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.. West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2015
.PART - 1I

PHILOSOPHY — GENERAL
Paper - 11

Duration : 3 Hours | [ Full Marks : 100

The figures in the margin indicate full marks.
PR AN 2fNEI oo |

Group - A
fret-=
Answer Question Nos. 1 & 2 and any two from the rest within 300 words each.
5> MR8 X W oM @R TRE el T4 @ @ FF 46 o Ted
ofefs woo *H W M |
1. Answer any five questions within two sentences each : 2x5=10

Q- A e Tew ool (b A wa fm e

a) Name the attributes of sensation.

M lofera T Sead I

b) What is Experimental method ?
A ofmfo I IET ?
c) What is stimulus ?
TR B 2
“d)  Define memory.

~for @ e |

e). What is dream-work ?

oo ICE IE 2
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f) Are mind and consciousness co-extensive ?
¥ G3R (GO F ATINNS ?

g What is the meaning of the term ‘Gestalt’ ?
‘PG TR e Y 2
h) Whatis 1.Q. ?
% I T ?
i) What is the difference between adequate stimulus and inadequate

stimulus ?

AN THNF ¢ TS TR T HIF Y 2

J) What are the processes involved in perception ?
AGCFI VoG N F oferm g 2

2. Answer any two of the following questions within 100 words each : 2x5=10

frsfafe - v 9eR $ex fefb yoo *tar wog fum -

a) What is Information Processing theory of memory ?
RS oot O AT %o F 2
b) What is the distinction between sub-conscious and unconscious mind ?

TR 8 TER qER A1 FY 2

c) Discuss Freud’s theory of Dream.
d) How is 1.Q. determined ?

Ta% eI Fefy 21 78 2

3. What is sensation ? State and explain the attributes of sensation. What is the
relation between sensation and perception ? Discuss. 2+6+7
AN P A 2 AWM Gfafer Srao@s QA FF4 | WA 8 AGCHFI Ty 71

F 2 FIEBN FFA |

4. Discuss Gestalt theory of perception. 15
FOTF FTE (BTG TOIM SN T
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S. What are the proofs for the existence of unconscious mind ? Explain. 15
TR R IRe Sf3E3 #94rs Poef mEmn 337 |

Explain and examine Pavlov’s Conditional Reflex theory of learning. 15

fiem oo smeRTte Aers-ofrS firarm M ¢ e 3%

Group - B
fTsta-9

Answer Question Nos. 7 & 8 and any two from the rest within 300 words each.

q A G v A Y 9R R PIefE T (W @ @R A IR T8
ofSfb woo *zr7 I = |

7. Answer any five questions within two sentences each : 2x5=10

- +Ar6fS efvas Te ofsl 4fp e wrr i

a)

b)

c)

d)

e)

g

h)

What are the Purusarthas of human life ?

THRR GRED FT I 2
What is Prarabdha Karma ?
oATIR I INP ICA ?

What is Nigkama Karma ?

e = 31 3w 2

What are the three Gems of Jaina Ethics ?
to MSfmmr favgefr A 2

What is meant by S7la in Buddhism ?
QA% W A’ 00 F QAR 2

What is moral action ?

e fFm I I 2

What do you mean by Teleological ethics ?
Tew7) Ao TR e N QAR ?

What are the postulates of ethics ?

MeRmm sEAFfectn 2
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10.

11.

12.

i) What is Paradox of Hedonism ?
HRAR @A R 2
J) What do you mean by deontological ethics ?
FEIY (5P TR IeT0 N QAR ?
Answer any two of the following questions within 100 words each : 2x5=10

fafefe w46 o 63 ofo voo = sy = -

a)  Write a short note on Carvaka Ethics.

b feey samm A:Fwe e fFgm
b) Show the distinction between Sakama Karma and Niskama Karma.
c) What is the object of moral judgment ?
o R REn 2
d) Write a short note on Categorical Imperative.
wSR S TEew HfEe B o
Give an exposition of the four Noble Truths preached by Gautam Buddha. 15
(Mox T= oIS o1l L) F1F SNEA 397 |
Make a distinction between Anuvratas and Mahavratas. 15

IS Q@ FRITSR T HSFT IFF

Distinguish between voluntary and in-voluntary actions. Discuss different types of
in-voluntary actions with example. S+ 10

Ifize @ StAfzs fFaR Trn N I | fifen o WAfles e ResR EEA
I |

What 1s meant by ‘Utilitarianism’ ? Discuss critically Mill’s Utilitarianism. Show
how it differs from that of Bentham'’s Utilitarianism. 2+8+5
‘TAWIRM ITte P ART ? NEAI Tormerm ARBR MFABA IFF | [REWI TR

(T O FIOR oF O WA |
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West Bengal State University
B.A./B.Sc./B.Com. { Honours, Major, General ) Examinations, 2015

PART - II

PHILOSOPHY — GENERAL
Paper - III
Duration : 3 Hours | [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.

TG JUPTSR AT O @11 1gA1 |
AR RN oI (IToF |

GROUP - A
ot - =

Answer Question Nos.1 & 2 compulsorily and any two from the rest within

300 words each.

1728 2 A2 93N Yan R @3t SIFR eefe Wa0 (e (@ @R 1 o Ses afel
900 | T e |

1. Answer any five questions ( within two sentences each ) Sx2=10

a) Who is the author of Nyaya Sutra ?
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b)

d)

g

h)

)

What do you mean by vyabhicara ?

b TeCs 5 QIR 2

What do you mean by ‘Tarka'?

oF IS e QIR 2

Distinguish between Samavyapti and Asamavyapti.

AN Qa2 TANANAT TeeT 1< A |

What is the difference between anumana and anumiti.

TR ¢ SR etew e T

"The hill is smoky, because the hill is fiery." State the sadhya, paksa and

hetu of this inference.

‘SISl GRA, I ©f AT - 9% SENAT AL, F @ (XY W FE |
What is Svarthanumana ?

FLIH I AT 2

Give an_example of Sesavat Anumana.

CTERE. AT QBB THIRIA e |

What is the meaning of 'Naya' in Jaina philosophy ?

& 7 7Y w4iog o 6 2

What are meant by paksa and vipaksa ?

% @ [Fors o700 [ @Em 2
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2. Write short notes on any two within 100 words each : 2x5=10

a) Paksadharmata Jnana according to Nyaya school.

b) Jaina ‘Saptabhahgi naya’

& TS T |

c) Distinction ' between Kevala-vyatireki and Anvaya-vyatireki anumiti,

d) Classification of hetu following the Nyaya philosophy.

3. Define Vyapti according to Nyaya philosophy. How do the Naiyayikas establish .
Vyapti ? 5+10

4. Critically explain Jaina Syadvada. 10+ 5

S. Distinguish between Svarthanumiti and Pararthanumiti. In this connection,
explain Paricdyayav? Nyaya with the help of a suitable example. 6+9

Fffe @ sRIefFRien T o T 1 @B o5 SRR A 9 ST THRACT
AR T I |

6. Critically explain Paramarsa according to Nyaya school. 15
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GROUP - B
et - 2

Answer Question Nos.7 & 8 compulsorily and any two from the rest.

QMG b A AT TBY YRR a8 TR el T (U (@ (W 9P oAt %R o -

7. Answer any five questions 5x2=10

b)

d)

e)

1 ©
' °

Fill in the blanks :
The quality of I proposition is ............... and quantity is ................ .

1A QA o, QIS AT |

'Men are mortal.' Give the logical form of this sentence.

TE T2 | Awe FfeRemTae Fof )

Convert the following proposition :

All flowers are not fragrant.

1] o1 T[N A — A AR I |

'Only the members are voters.' Give the logical form of this statement and

state which term is distributed.

A TARR coltwrel 1 — e JfeRwmmNe @9 Wy 93z W omib
AT AR O I |

Express the following sentence in Boolean notation and draw Venn
diagram :

'Everything is beautiful.’

frsferfye et i fafice eomr Fwv @3 ceAfba W
fey 1
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f) What are the names of valid moods of syllogism in first figure ?
TR AT AL YOS J F 2
g Show the forms of Mill's Method of Difference.
e ISR orafer TR @ |
h) Symbolize the following.
Pif q.
ASFITS T4 ¢
paft q
i) Use truth-table to define the logical connective '>'.
AGARTY & (A ARG '>' 97 F&I W |
b)) If Pis false, then determine the truth-value of (Pv ~ P)vr.
3w p ey =9, o=@ (Pv ~ P)vr. -93 TGN @ 3941
8. Write short notes on any two : 2x5=10
a) Existential fallacy
Gy I |
b) Opposition of Proposition.
Fee Rafen
c) Distribution of terms.
d) Rules of obversion

fadea s
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9. Test the validity of the following syllogism or syllogistic forms by means of Venn
diagram (any three) : 3x5=15

cofocae AR RefAfe Ay a1 merefR ge [k TF7 (@ (@ foa1fo) ¢

a) EAO -1
b) AAA -2
c) Some scientists are philosophers, since some mathematicians are

philosophers and all mathematicians are scientists.

fog REm m=fae, ARy Fg sfies mie eag s sffew 2o i |

d) No Republicans are Democrats; so some Democrats are wealthy men,

since some wealthy men are not Republicans.
ATGFNR ST 7 5 oA 7y s &7 I, Tl 7y 7 A ewmed 77|
10. Test the validity of the following with the help of truth table (any three).
3x5=15
STOPTRAR R (34l b1 T (T (o Ro=fo)
a) (Av B)> (A.B)
AB/ . . AvB
b) Qv (R ~R)
Q/. ~(R ~R)
c) Ro(SvT)

S.T)>~R/~~R
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d) If West Bengal suffers a severe drought then if Punjab has its normal
rainfall then Hariyana's water supply will be greatly reduced. Punjab does
have its normal rainfall. So if Hariyana's water supply is greatly reduced

then West Bengal suffers a severe drought.

A offFa1eETn 4w 28 ORE I g FelRSE JRere 20 o AEEE o
SERAR YRE B AN | HNEWR RS Fifdd 271 o I =feamm & sz
Y@ I TF ORE AFHTRNE 41 @ |

11. What is contraposition ? Contrapose A and O propositions. Is contraposition of E
proposition valid ? Is simple conversion of A proposition possible ? 3 +4+ 4 +4
AIRER I I ? A @98 O I ANARMSS FF7 | E WA FHQAEA 6 Qg 2

A IBET A FRGT [F 751 2

12. Explain and examine Mill's Joint method of agreement and difference. 10+5

N7 SFI-ASEI oafs My 8 [ T4
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